

$$\textcircled{1} \quad x^2 + 2x + y^2 = 0$$

$$\Downarrow$$

$$\underbrace{x^2 + 2x + 1 - 1 + y^2 = 0}_{(x+1)^2}$$

$$\Downarrow$$

$$\boxed{(x+1)^2 + y^2 = 1}$$

$\left\{ \begin{array}{l} \text{Kreis} \\ \text{zentrum } \bar{x} = -1 \\ \text{Exzentrizität } e = 0 \end{array} \right.$

$$\textcircled{2} \quad \text{a) } y'' + 2y' = 0 \rightsquigarrow \lambda^2 + 2\lambda = 0 \rightsquigarrow \lambda = 0, -2$$

$$\rightsquigarrow \boxed{y = Ae^{0x} + Be^{-2x} = A + Be^{-2x}}$$

$$\text{b) } y_p = (c + Dx)e^{-x} \rightsquigarrow y_p' = (c + D - Dx)e^{-x}$$

$$y_p'' = (c - 2D + Dx)e^{-x}$$

$$y_p'' + 2y_p' = (c - 2D + Dx)e^{-x} + 2(c - c + D - Dx)e^{-x}$$

$$= (-c - Dx)e^{-x} = xe^{-x} \rightsquigarrow \begin{array}{l} c = 0 \\ D = -1 \end{array}$$

$$\rightsquigarrow \boxed{y_p = -xe^{-x}}$$

$$\boxed{y = -xe^{-x} + A + Be^{-2x}} \quad \text{generell Lösung.}$$

$$y(0) = 0 + A + Be^0 = \boxed{A + B = 6}$$

$$y' = -e^{-x} + xe^{-x} - 2Be^{-2x}$$

$$y'(0) = -1 + 0 - 2B = -1 \Rightarrow \boxed{B = 0}$$

$$\Rightarrow \boxed{A = 6}$$

$$\boxed{y = -xe^{-x} + 6}$$

$$c) \quad y = \sum_{n=0}^{\infty} a_n x^n \quad \rightsquigarrow y' = \sum_{n=1}^{\infty} n \cdot a_n x^{n-1}$$

$$\rightsquigarrow y'' = \sum_{n=2}^{\infty} n(n-1) a_n x^{n-2}$$

$$\sum_{n=2}^{\infty} n(n-1) a_n x^{n-2} - x \sum_{n=1}^{\infty} n a_n x^{n-1} - \sum_{n=0}^{\infty} a_n x^n = 0$$

$$\sum_{n=2}^{\infty} n(n-1) a_n x^{n-2} - \sum_{n=1}^{\infty} n a_n x^n - \sum_{n=0}^{\infty} a_n x^n = 0$$

$$\sum_{n=0}^{\infty} (n+2)(n+1) a_{n+2} x^n - \sum_{n=1}^{\infty} n a_n x^n - \sum_{n=0}^{\infty} a_n x^n = 0$$

$$(2a_2 - a_0) + \sum_{n=1}^{\infty} ((n+2)(n+1)a_{n+2} - (n+1)a_n)x^n = 0$$

$$2a_2 - a_0 = 0$$

$$(n+2)(n+1)a_{n+2} - (n+1)a_n = 0 \quad n \geq 1$$

Seiten $y(0) = 1 \Rightarrow a_0 = 1$

$y'(0) = 0 \Rightarrow a_1 = 0$

$$a_2 = \frac{a_0}{2} \Rightarrow a_2 = \frac{1}{2}$$

$$a_{n+2} = \frac{(n+1)}{(n+2)(n+1)} a_n = \frac{a_n}{n+2}$$

$$a_3 = \frac{0}{3} = 0 \Rightarrow a_{2n+1} = 0$$

$$a_4 = \frac{1/2}{4} = \frac{1}{8} \Rightarrow a_{2n} = \frac{1}{(2n)(2n-2) \cdots 2}$$

$$n \geq 2$$

$$\textcircled{3} \quad f(x) = 2x + x \sin(x+3) - 5$$

$$f'(x) = 2 + \sin(x+3) + x \cos(x+3)$$

$$X_{n+1} = X_n - \frac{2X_n + X_n \sin(X_n+3) - 5}{2 + \sin(X_n+3) + X_n \cos(X_n+3)}$$

$$X_0 = 3$$

$$X_1 = 3 - \frac{6 + 3 \sin 6 - 5}{2 + \sin 6 - 3 \cos 6} \approx 3.1395$$

$$X_2 \approx 3.803$$

$$\textcircled{4} \quad \cos x = 1 - \frac{1}{2}x^2 + \frac{1}{4!}x^4 + R_5(x)$$

$$\sin x = x - \frac{1}{3!}x^3 + R_4(x)$$

$$\ln(1+x) = x + R_2(x)$$

$$\lim_{x \rightarrow 0} \frac{\left(1 - \frac{1}{2}x^2 + \frac{1}{4!}x^4 + R_5(x)\right) - 1 + \frac{1}{2}x \left(x - \frac{1}{3!}x^3 + R_4(x)\right)}{\left(x + R_2(x)\right)^4} =$$

$$= \lim_{x \rightarrow 0} \frac{-\frac{1}{2}x^2 + \frac{1}{4!}x^4 + \cancel{R_5(x)} + \frac{1}{2}x^2 - \frac{1}{2 \cdot 3!}x^4 + \frac{1}{2}x R_4(x)}{x^4 + P_5(x)}$$

$x^4 + P_5(x)$

polynomiet av grad større en 4.

$$= \lim_{x \rightarrow 0} \frac{-\frac{1}{12}x^4 + Q_5(x)}{x^4 + P_5(x)} = \boxed{\frac{-1}{12}}$$

$$b) \sum_{n=0}^{\infty} \underbrace{\frac{1}{n^2 4^n} x^{2n}}_{r_n}$$

$$\lim_{n \rightarrow \infty} \frac{r_{n+1}}{r_n} = \lim_{n \rightarrow \infty} \frac{\frac{x^{2n+2}}{(n+1)^2 4^{n+1}}}{\frac{x^{2n}}{n^2 4^n}} = \lim_{n \rightarrow \infty} \frac{n^2 x^2}{(n+1)^2 4} =$$

$$= \frac{x^2}{4} \rightsquigarrow \frac{x^2}{4} < 1 \rightsquigarrow x^2 < 4 \rightsquigarrow \boxed{-2 < x < 2}$$

$$\boxed{x=2} \rightsquigarrow \sum_{n=0}^{\infty} \frac{1}{n^2 4^n} 2^{2n} = \sum_{n=0}^{\infty} \frac{1}{n^2} < \infty$$

$$\boxed{x=-2} \rightsquigarrow \sum_{n=0}^{\infty} \frac{1}{n^2 4^n} (-2)^{2n} = \sum_{n=0}^{\infty} \frac{1}{n^2} < \infty$$

$$\textcircled{5} \quad y' = f(x, y) = \frac{-x}{y^2} \quad y(0) = 1$$

$$x_0 = 0, \quad y_0 = 1, \quad h = 0.1$$

$$x_0' = 0.05,$$

$$y_0' = 1 + 0.05 \cdot f(0, 1) = 1 + 0.05 \cdot 0 = 1 + 0 = 1$$

$$y_1 = 1 + 0.1 \cdot f(0.05, 1) = 1 + 0.1 \cdot (-0.05) = \boxed{0.995}$$

$$x_1' = 0.1 + 0.05 = 0.15$$

$$y_1' = 0.995 + 0.05 f(0.1, 0.995) = 0.9899$$

$$y_2 = 0.995 + 0.1 f(0.1, 0.9899) = \boxed{0.9848}$$

$$\textcircled{6} \quad \lim_{n \rightarrow \infty} \frac{\overbrace{1}^{f_n}}{n + n(x-n)^2} = 0 \quad \forall x \in \mathbb{R}$$

$$f_n \rightarrow 0 \quad \text{punktweis}$$

$$d(f_n, 0) = \frac{1}{n} \rightarrow 0 \quad n \rightarrow \infty$$

das $f_n \rightarrow 0$ uniformt.